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tWE MERE % & FR *AMRp  Bh gue  gh mum  Gn s
2 100m 2 WA B3 ATiRAL 3|83(-14 11704 4
5 100m 4 TFEH it FEERE 38329 11729 7
E] 100m 5 EHH R SLEETE 3|83|-14 11”17 6
8 200m 3 WA BE ARt 3|85(-12 22”711 6
8 200m 6 HE M ST E 3|85[-12 2275 8
B 400m 3 i Kih JEFIE 2|82 487 75 4
8 400m 4 hE R 3|82 50709 6
B 800m 4 B #5 HREKZ 2 [s4ss5 1752729 3 152" 46 4 1751717 5
82 800m 6 B MR BER 3|84 1759745 8
8 5000m 1 wH E BER 3|84 14702790 1 13’ 56”81 7
82 5000m 2 fERKR KiE TEmRfER 3|84 14738790 15
8 5000m 4 &l K BER 3|84 14° 527 98 14
B 110mH 5 EH kiE 2T 2 86|04 15722 5
B 400mH 4 hOEt #A ILER 3|83 55”69 7
B 400mH 6 [EL ) node 3|83 55" 84 8
8  3000mSC 3 = it TEBRAER 3|85 9’ 39”50 13
B 3000mSC 6 hiE EX BER 3 |ss/86 9’ 10”702 2 9’ 20”31 14
B 5000mW 4 fEE 12 PE— 3|83 237 137 73 17
%8  4x100mR 2 ST 8.2 407 83 4|(KH BAQ)-HE HRQ)-FHE BAHQ- R EAOD)
B  4x100mR 3 KEE 8.2 417 26 4| (BB FHQ)- B Q- AR BEG)-ED B—O)
B 4x100mR 5 FEEERE 8.2 417 45 6|(FIR RAD)-HAR AHQ)-BA KEQ)-HB EH3))
5 4x100mR #ERE; ST E 8.3 417 20  8|(KE AN HE HRQ) Tk A B HEAM)
B EEH 4 B BAE K@ 2 | 86 NM
5 E=H 5 P RBE g3 3|86 2 m00 4 2m00 6
B &M 3 BE HRE il 2|82 NM
B =B 4 B E HE 3|85[+1.9 13m66 23
B =B 5 BB Rz TEREXR 38527 13m17 31
B =B 6 T w3 SLHE 3|85[-08 13m87 19
8 ik 1 BR EE BEX 3| 84 14m5 9
B  maiik 3 BH B BARE 2| 84 12m 36 29
8 A% 2 2% N St B 3|86 37m 62 22
B A% 3 BB Rk EIEE 2| 86 34m 22 27
5 HAEE 4 WE & EIEEE 3|86 37m 36 23
B - 2 WE & EIEEE 3|82 58m 13 3 60m 83 4
B - 4 N EiE EBE 3|82 51 m 44 18
B - 6 &k b Ed=E1 2|82 54m 22 15
8 YR 3 MR BT RE 3|85 51m 19 25
B PYE 4 KiB BEA namaz 11|85 51 m 87 21
B YK 6 R EE s 3|85 49m 23 30
B \EHEK 1 #A BF FRPERE 3 |s283 5642 1
5B J\EmE 3 AR EE BRARE 2 |s2/83 5081 m 24




